%

Questions : 1 to 50

s

o

e

If 'MERCURY' is
'FGAECAB' in a code then how would
'CURE' be written in the same code ?
(1) GCFI (2) ECAB

(3) ECAG (4) EAGC

‘written as

. Which one of the answer figure would

occupy the next positiOn in the
problem figure, if they continue in the
same order ?

Problem Figures:

X

X X ?

Answer Figures :

X =X X -|[X%
1) (2) (3 (4)
Oné  segment of the given

deslign/pattern is missing. Select the

alternative which will complete the

design when placed on the missing area.

(1) (2) (3) 4
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(3)

PART - I (9 - 1)
MENTAL ABILITY TEST
gifss FvEar qheT

1. 3R Frdi ofas s § 'MERCURY'
# 'FGAECAB' frar-omm & o Sl
amT § 'CURE' e e fer@n s ?

(1) GCFI -
(3) ECAG
gt gqEn TRy 9 AW @ ded Al
T FH W I AREl F ¥ dE-H
3Tt & ATt ?

(2) ECAB,
(4) EAGC

qae g
X
X || X ?
ITT Ao
x |l=x X -]lx
1n - @ (3) (4).

R T /ST T S gD
¥ S Ry # T S ga ®bFE W
TR T SIS /AT A H A |

(1) (2) 3) (4)

P. T Q.




7

6. _ (4) -
4, If ' stand for division, '+ for 4, IR~ [ A Hi, '+ s} il A g e
multiplication, '+' for subtraction and GRIEES q Sz & O F=fafag |3 T B
'x' for addition, which one of the 1 TR Tl © 7
following equation is correct ?
(1) 6+20x12+T—1=70 (1) 6+20x12+7-1=170
(2) 6+20—-12+7x1=62 (2) 6+20-12+7x1=62
(38) 6—20+12x7+1=57 - (3) 6-20+12x7+1=57
4 s "
4y 6+20-12+7-1=238 (4 6+20-12+7-1=38
Directions: (Q. No.5 & 6) fder : (997 o 5 e 6)
Find the missing number/numbers in the R m den #9 § ga ge/aee @
series. : @ﬁﬂl
5. 2,65,7, 59,12, 53,9, °? 5. 2,865,759 12 53,22
(1) 15, 42 2) 17, 45 (1) 15, 42 () 17, 45
(3) 17,47 (4) 18, 48 (3) 17, 47 (4) 18, 48
6. 5255, 53086, ?, 5408, 5459 6. 5255, 5306, ?, 5408, 5459
- 1) 5057 (2) 5357 (1) 5057 (2) 5357
(3) 5257 4) 5157 ' 3) 5257 4) 5157
% I ' 7. A
54 +43=2 _ 54 + 43 =2
60+ 51 =10 i g T 60+ 51 =10
 Then 62 + 72 =2 G a 62+72=2
(1) 30 (2) 18 . (1) 30 (2) 18
(3) 20 4 9 (3) 20 4) 9
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(5)

8. Choose the correct mirror image of
" the Figure (X) from four alternatives

given along with it, The mirror has

been represented by MN.
M

AN,
(X) N

LAXL JAJ L.mj JAJ
ey ) ® (4)

9. If 'REEXAMINATION' is written as
"EXAMINATIONER' how can
'REFORMER' - be written in that

code ?

(1) REFORMRE
(2) REFROMER
(3) FORREMER
(4) FORMERER

10. Arrange the following words as per
dictionary.
(a) Live (b) Li.t_;i_;er
(¢c) Little (d) Li’_cefrary
(e) Living I
(1) d,c,e,b,a
(2) d,b,c,a,e
(3) c, d, b, é, e

(4) ¢,b,d, e a,
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10.

C

Sl (X) F a0 § I W A e
T oy Ru W IR Red § @ @@
X ®ifew| o # W MN &
e forar mm B

M
® - BN

LAL JAJ LAJ 1%; 5
i ¢ (2) ) (4)

R R BT § REEXAMINATION'

# 'EXAMINATIONER' ferar st &
@ o #e ¥ 'REFORMER' #
fora e - ?

(1) REFORMRE

(2) REFROMER

(3) FORREMER

(4) FORMERER

e Ru T 9= @ q=ha & AgER
Zrafeerd Hiferd |

(a) Live (b)- Litter

(c) Little (D) Literarly

(e) Living '

(1) d,c,e,b,a

(2) d,b,c, a,e

(3) c,d, b,a,e
(4) ¢, b, d, e a

P.T: 0,




11. At 12:30 the hour hand of a clock

faces -north and the minute hand °

faces south. At 2:45 the minutes hand

will be in which direction ?

(1) N’oer-Wést : -
.(2'). W_est
. (3) South-East

(4) East

C12, Find the missing number :

| \‘20160 - 4 ~
B 4
480 ; 8

96 |" 24 ™

(1). 860

2) 1140

(3) 2880 |

(.4) 3240

Directions : (Q. No; 713 to 15)
Ifg + b means a is'sister of b.
: Va -b meén; a; 1S lbrother ofb. |
a x b means a is daughter of b.

Y means a is. mother of b.
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11. 3R 12:30 &9 ¢ 1 G IW v A

R T Pre @ g e Rem & o
B @ 2:45 o5 e @ g2 e Rem &t
ST B 7

(1) IT-9
(2 k=M

3) aft-ed
(4) gd

12. g« HE&AT S B
20160 4
? 4
480 «. 8
9 | 24

(1) 860
(2) 1140
(3) 2880

(4) 3240

R : (99 Ho 13 15)

TR a+b B a bR A EY

‘ax b A a, b Eﬁgﬁ 3

_a-bmadab

a+bdH ¥ a, b F UET R




13. Which of the following relationship

14.

shows that 1 and n are wife and
husband ?

(1) l+mxn
2 l-mxn
(3) l1+mxn

(4) l1+m~n

How many females does this

relationship shows ?

l+m—n+o—pxci
(1) 2 |
2 3
3) 4

(44 can't be determind

15. The relationship p + q —r x s + t°

shows that :

(1) », q, r, s all are children of t.

(2) p, q,r, tall are children of s.

(3) p, q, rall are children of t and s.

(4) p, q, 1, s, t all are siblings.

(7)

C_

13. frefofag @l & @ f9-a@ g

JFT FYAT & 5 1 9 n GRT U B

(1) l1+mxn
2 l-mxn
(3) 1+mxn

(4) l1+m—n

14. 39 Ty # fae wfead ¥ ?

1+m—n+0—p.><-q
(1) 2
2 3
(3) 4

(4) |El oTHEE Wel AT & wear

15. p+q~—r><s+tﬂ"ﬂ"qmm%

ﬁ;:

D pgnsThtd TR E
@ poagrt s d TR ¥
@ poor @R ¢ qMs D T ¥
(4) p,qr st @ TE A 2|

fad'er : (959 Wo 16 @ 19)

TF W9 H A e ol TWH HH ° &
a oA ®HW W IOY Spd A Od B
Tty ' qreE ?

Directions : (Q. No. 16 to 19)

I In each of the following questions, which one
of the answer figure would occupy the next

position in the problem figure. If they

continue in the same order.
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16. Problem Figures:

Answer Figures :

o/ [Pee®| [ o |
) [ & ||| |[eseses

s (e

(1) 2 (3)

17. Problem Figures:

o [eRe ki 00| 00QC0
———4
—e || 0—9
—eo ||o—a | o——@
s *— —a || —
Answer Figures :
000 o0 Q00||00000
p—l
*— >—
—h || —D =
(1) (2) 3 (4)
18. Problem Figures:
+ O = f (3 A
o +. 0O T
o + *ld
Answer Figures :
S AH |
PATH o4 A
P A% _

16. TET FAFRAT -
!oor-riolb'J
o o @ .!o-ooo (oovse]| | L losssss|
IOT A oar
. I
[eenean] || [_wo 9] e @ | %
{ [||e_ o @f||[® @ [esvne|
(1) (2) (3) (4)
17. WYET EHREl
Q o0 oQR|| 0000
*—a .
3 |——3 || giang
*— r—a4a iy *—t
I SR feral
000 (e R o] 0Q0||00000
| | _
— | | t—D —
(1) (2 3 (4)
18. |WE SRl
+ 0 = =)
’ o+ 0O TA
bo +
IO ATl
s A%
PAYT otA
PAD
3 (4)

(1) (2)

‘ @ @ @
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- 19. Problem Figures:

20.

21.

Il

<

Y|

' Ans;'wer Figures :

—

T

(D) 2

Which of the following number is

wrong in the series ?

3 6, 10, 16, 21, 28

L 16

. (2) 10

3
4)

'‘Sudha' is shorter thal:l "Uma’, 'Neha'
is taller th_an 'Sudha', 'Sudha’ is taller

than 'Uma' but shorter than 'Hema'.

'"Uma' is the taller then 'Neha'. Who is

the tallest among them ?

. (1) Hema

(2) Uma
(3) Sudha

(4) Neha
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19.

20.

21.

A el

e

e

T

» @

& T g ¥ FF-G G o e

3, 6, 10, 16, 21, 28
(1) 16

(2) 10

(3) 21

(4) 28

g, I & OIS ¥ Tel, gOA = 8
g, T F T 5, WG o ¥ O B
o, e & el ¥ AR el A E 7

(1) B

(2) S
(3) g
(4) @

P.T.O.




C

: 22. How many 'trianglés are there in the

given figure ?

<

(1) 16
(2 8
3 14

4) 12

Directions : (Q. No. 28 to 26)

In each of the following questions, numbers

are written according to some patterns, and

one number is missing shown by question

mark. Find

the missing number

replaces the question mark.

23.

8 -7 10
18 - 32 .715

10 9 2

@ 12

(2) 10

(3 21

(4) 25

12

17

14
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(10)

22. & 7 omeft ¥ Byt @ wen e

g7

1) 16
@ 8
@) 14

(4) 12

Fder : (999 Ho 23 | 26)

79 R 5% 797 § 0 BRI 7 s3I 38
qEY forEl T &1 5§ v qer g & R
797 [T @ Fnar T 81 g7 gear ST #ow
T 797 FET % &I 97 39577 &/

23. 8 7 10 12.
13 12 -15 “1%
10 9 ? 14
1) 12
2 10
@ 21
4) 25




(2) 37
-’
(3) 45

(4) 47
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(4) 47

P.T.O.




C
Directions : (Q. No. 27 &.28)

-The qﬁestions are based on the. following
diagrams, study the diagrams carefully and

answer the questwns

Boys
i

Singe

27. Which of the following represents

boys, who are players but not singers ?

1) A
@ H
(3) B
@ F

28. Which of the following represents

players, who are also singers but not

boys ?
(1) F @2 E
(3) G (4) H

29. 'A' starts from a point and walks 5 km
- north, then turns left and walks 3 km.
Then again turns left and walks 5 km.

- In which direction he is going now ?
(1) North (2) South -
(3) East (4) West
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FEer : (997 Ho 27 741 28)
T 797 [T [ 7 STRa &1 Fre#r

AT & 7T F T F7 H TAC A7
/b /H
E /e
D Raetrer

27. Prfifed 3 & Pred = 20 W= B
g T B, W el ¥ oW e
& ¥ 7
1 A
(2 H
(3) B
4 F v

28. Fy=ififad & & 5o arw T8 Reanfeat
F e TR, ﬁmﬁ‘f%tﬂﬁ
TeD T E ?

(1) F (2 E
3 G (4) H

29. 'A' TF ©F ¥ 5 F % Rwr § smar
198 T oM mEa 3 felt wem R
R it S geoR 5 [0 = B | o/
EHFg R A @Y
(1) I (2) afeyer

@) @ (4) dfdEw




30. Thg age of Shyam is 1/3rd that of his
mother. He is 2 years older than his
sister. If the age of his sister is 8
years then what is the age of his

mother ?
(1) 25 years
(2) 60 years
(3) 48 years
(4) 30 years
‘ -
81. A is D's brother. D is B's father. B
and C are sisters. How is A related to
o7
(1) Son
(2) Grandson
(3) Father
(4) Uncle
Directions : (Q. No. 32 to 34)
- In each question three statements followed

by two conclusions numbered I and II are

given. Decide which of the given conclusions
the

disregarding commonly known facts. Give

. logically follows given statement

answer.
(1) If only conclusion I follows
(2) If only conclusion II follows

(38) If both I and II follows

(4) If neither I nor II follows
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C

30. @M F Y S AW B AY A @
ferg 1 @ oo WeT @ 2 AW g% ¢
ot g @ & omg 8 af & A 5
qwT @ g e 8 ?

(1) 2579
(2) 60T
(3) 48 a9
(4) 309

A D% 9E 21D, B & far 81 B aw
C A9g ¥ §84 &1 A & C & &M
T 7 7

(1 9=

(2) g

(3) fuar

(4) ==

3T « (937 Ho.32 ¥ 34)

i N F AN He qUT I 9% A i 1
g 11 Ry 7@ B FuAl & §9 G §Y T
Fifre & Fe-ar R = e Re e s
F qHE W F STIEACT FA & | 9 & Fedw
a7 g5 off 81| ST A

(1) 3R Faw Frepd 1 STERT HTC 8
(2) 3R Faw Frepd 11 STgaT &l &
(3) g% At Frepd 17 11 STEReT #Xd €

4) 3t 7 ar frepd 19 & Frepd 1T orgERe
F &

31.

P.T.O.




32. Statements:
| All crows are parrots All parrots
“are doves. Some doves are cats.
donclusions :
I .Some cats are crows.

“1I Some doves are crows.

i Statements
Some desks are mirrors. Some
- mirrors are chairs. All chairs. are

pens.
Conclusions :
I Some pens are chairs. -

II Some pens are desks.

- 34. Statements :
All glasses are rivers. All rivers
are bottles. All bottles are plates.

Conclusions :

N
i

I All plates are rivers.

11 Some bottles are glasses. |

Directibns :(Q. No. 35 & 36)

A series of small letters is given which
follow ‘a certain pattern. However some
"letters are missing ffom the series. You have
to find out the right set of letters from
" alternatives that can be 1nserted into the
blanks of the series. , ‘

86 = a:a'b_aéha_ba
(1) bbaabf (2) aaabb
(3) ababa (4) babab
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33.

32. FHgT

Tl Y, éﬁ%%|mﬂaﬁqﬂ@r%|
Eﬁatﬁm%ﬁsﬂ%ﬂ

L1 B o, w2 Bl
LS P B B 1l

FET
B 3%, T €1 GO a4, AT €
& R T B

frey -
1 35 ¥, RET ¥
118 3, 3 21

FGT
gl P, ARar 1 owsh Ak,
A &1 gl a9, @ B
I geft @ At 21
11 %8 d, Fee g |

34.

fd%r : (997 o 85 e 36)

I T @ 8RR ol @ & gEa &’
R, o wx faftea &9 7 R gp ) @ |
e ¥ el &tk W e e Ry T
Rreeedl & § wifen, @ e @ A O A
S b |

L

35. __éab_a_a'_ba LY _
(1) bbaab  (2) aaabb
(3) ababa " (4) babab




86. hreghfegh_eghfe_
(1) gfth (2) hhgg -
(3) ffgh (4) fhfg

37. Find the missing —number that

replaces the question mark.

25 |49 | 81

b} T ?

15 13 11

20 20 20

(1) 9 Loy B
(3) 61 (4) 31

Directions : (Q. No. 38 to 42)

Five friends A, B, C, D and E are sitting on

a bench.
A is sitting next to B.
Cis sitting next to D.
D is not sitting with E.
E is on th® left end of the bench.

C is on t¥e second position from the right.

A is on the right of B and E.

A and C are sitting together.

38. Where is A sitting ?
- (1) Between B andD
(2) Betv'feen Dand C
(3) Between E and D

&4) Between B and C \
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36. h_eg_fegh_eghfe_ .
(1) gfth - (2) hhgg
(3) ffgh @) thig

37. Y@ WEN §W MW S owed fapd @
© WM X I9gE 8|
95 | 49 | 81

5 i ,

15 13 11

20 | 20 | 20
(1) 9 ; @ 3
3) 61 4) 31

'

f3%er : (999 Ho 38 ¥ 42)
U %A, B,C,D @ E & 89 W R &

A B 3 w9 ¥ ¥

C,D & @Y T B |

D, E & 919 T&t o1 B |
Eda % 9 AR @ o1 8|
CEHl X q ga WA W B
A BTNE F aEdf &R 81
AT C qg-91F § ¥ |

38. A 8 &N W qo1 & 7
(1) BAGrD &% 99 #
(2) DTAMC F 99 §
(3) EFD & g9 ® -

(4) BaarC & g §
P.T.O.




39

40.

41.

42,

43.

cq(l) A
@® C

Who is sitting in the centre ?
(2) B
(4) D

C is sitting between :
(1) BandD

(2) Aand E

(3) Dand E

(4 AandD .

What is the position of D ?
(1) Extreme left

(2) Extreme right

(3) Third from left |

(4) Second from left

What is the position of B ?
(1) Second from right

(2) Centre

(3) E;ctreme left

(4) Second from left

Amit said, this girl is the wife of the
grandson of my mother. How is Amit °

related to the girl ?
(1) Father _
(2) Grand¥ather
(3) Husband

,{4‘) Fatherin law
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39.

40.

41

- 42,

43.

g § B9 ST & 7
2 B
4 D

(1 A
@3) C

C s g TR ?
(1) BaD
(2) ATME
3) DFME
(4) ATD

D fF oH W R ?

(1) =& 9

(2) a9

(3) 9t OR | el & W
4) Tt R gE WH W

B R &R ®E?

(1) T AR | A WH |
2 7 7

3) wEd 9

(4) TRt R | gE W W

At ¥ Fa1 5 ge T A AT &
R H Tl B G Fo3q deH q A

T B 7

(1) Rar
(2) TEr
- (3) o

(4) "YT.




44,

45.

46.

47.

How many triangle are in the given

figure ?
b / 'I
_ /
/ g .
/ \\'
(1) 16 2 13
(3) 9 4 7

In the given dice which colour is

opposite to green ?

Black Viole! Green Black

range

range

Red
Greer

Viclet Red, Blue Blue

-

(1) Black
(2) Blue
(3) Violet
(4) Orange *

Figure (X) is emmbedded in one of the
given four figures. Trace out the

correct alternative.

>

oA KA

pas

X) (1) (2) 3 (4)
Which diagram represents language,
English and Hindi ? :

G0 @ Qgp 000
1) (2) (3) (4

(
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44.

45.

46.

417.

g
& oy # Bt @ wen R
27 | e

(1) 16 (2) 13

(3 9 : T

R T TR ¥ R 7 % Redd e

We?
Gl

ST

(1)
(2)
@) S
(4) gl

R (05 e T v e T O

s § o wafE Rer mr R SR

o gifen
A EASZEA
® O © @ @

At o ww, ot 7 R @
e I

& 0D 000
(1) (2 3 (4

P.T.0.




48. In a row of 16 girls, when 'Hema was
shifted by two pléce towards the left
she became 7th from the left and
what was her earlier position from
the right end ?

(1) T7th
(2) 8th
(3) 9th
(4) 10th
49. If day before yesterday was Friday,

what will be the third day after the

day after tomorrow ?
(1) Thursday

(2) Friday

(3) Saturday

(4) Sunday

50. In the given dice detect the number
that should replace the question mark
(M :

3 ! 1 4 7
6 5

s ik i
(2 5
@ 6
@ 3

48. 16 TGl ¥ UE dfed ¥ S BHT. oMU
C@E A et o @ N uRakid &
A A RR Y A mn A
B A AR A AN 8 WM W
of ?

o 7
@ s
(3) 9d
(4) 103
49. aﬁﬁ%g_w%%ﬁwf@w

q T WE B IE A RA PE-a
2 ?

(1) geafEr

- (2) AR
(3) gfFEr

(4) WEr

50. Ru U @ # geEEs A (7) & w
R HF-H Fed g & ?

3N 1 4 ?
5 1 2

1 1
2 5
(3) 6
4) 3
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